F79 -
I
72 4

fﬁfm g e T x 250 < s
—— o = L, =
32758 27 2/
_ zx 73
==
X 741
s
o 1 15 x ?
N - " S Kz — ’ ' :
XXt (efq) ¥ (xtq)2 a |
o ~ Z

e
PP

oo

(%MMBM\ (izﬁmaw\tﬂcﬁm‘ X (K'}‘?) Z

2 (xt+9) /9 ) - @X’(x'»f»a}m ( s ) ( J D=®
(x£1)° X x (x19)  \X 19 (X‘M)Z

g Q(xtq) " — x (xt) 15 — x°
k X (;(«o,)Z,

- S e farn a2 W-WW"""”‘“WW"TW%T 5o D




I’ H 57 1777 —18x T lBrv —x?

: x (x1q)?

W

DU

X (?Mig/’l) ;}729 _ ;} «}@KZ@},?Z@!‘
x(xrq)” | | X (x4q) *

T——

I

B —

ax’y bxye =o Quadralic Céu de

Q&OAV‘ “&T\&{C 1};‘ \‘“W\th?\ j
= by qmé

Ve

MW“" _MMMMWMNKNM
o o

(et )" = Geta) Cara) = X7 4 gx g o2

X
| — )(z+ 2%‘“[“5{7

| R

e Lg}( _____ MM;:“:

.

s

(x¢a)” = (xta) (g AR TR
. X%+3Aq,x f(i‘z

(cfa)(xa) =x% a”



QZ“”‘?&QY‘P The ;:gff}_{}fﬁ ©
Gwen & x° tby add (2] 4 %&/
s ()= G B
7 b (2)° = x4 205k + (%)?
Cq XHIxHEY = (e %)
O (s Tobrzs) = XT v Tt Tox f(?/
=32+ b (B)~

s 2 47 o+ | -¢ = { I @w&x’mfﬁc Foroula

> (N T 5 Za
_ 2k [ 4G
(xp1 Y = }

'2»“ s

G
X+l T \Q;r/ - =7 % “\?q_.g&

X =70 &

{-




Chuce

x= s xX’tZx-c=o

(-1 +f@)?~ +Z(*l %Jz‘) -¢ = (MD‘Z’%ZG\N; +(&\)z}
f(-7+276)- S

— =200 4 2+ 2 S
= 7 -7
= ()

(-1 - Je) +20-1-V¢)-S

- (0" vzenen) w(ief -2zl s
= ) W2 Nl -

ey 7»»7

- -



